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B X 1 63, 046, 224
ps+ T = 1 2, 780, 255
JEHI T 2 1 291, 006 | HfHH] (WBH) 540 m3
+#5 3, 000m3AT FEE4E
Bt = 1 301,427 |+ QAL 50 m3
2. 5mAT ;
RE A (A ) 6 m3
2. 5mPL 4. OmARTi ;
B+ GRA ) 304 m3
4. 0mPL E
Rkt A = 1 22,512 |VEmER (B 1) 60 m2
T i S O I BRI
P v T = 1 2,165, 310
IR = 1 45,612
fiA T 2 1 45,612 | NLIEZ 60 m2
U7 (L) ;
av))-MESE T = 1 54, 216, 567
EELT = 1 972, 026
2y - MESRAR T = 1 52,779,470 |av7)—-} 1, 691 m3
18-5-40 (FBFB) —a& A Azav ) - MEIHEAENE ;
1EAKHR 33 m
CF300X 7 ;
H Hx 182 m2
TR AHEET B M t=10 ;
AL AR 150 m2
V5 ety 590 m2
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Ky —p 20 m
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BB T = 1 178,800 |15 4Bk 1 ST
SRt T Y 1 22,610 |4 HE 7 1A
rGan Y 1 3, 094, 680
AEEHE T Y 1 3,094, 680 | A3 Wk B Y 5 1 =
B (Bff)
[ERAE Xy = 1 63, 046, 224
IR 2 1 6, 305, 000
BISTIGE: = 1 669, 000
BGRESGESE (5 L) = 1 669, 000
B (FEHL) = 1 5, 636, 000
T = 1 69, 351, 224
Bl gy 2 1 20, 909, 000
T =5l = 1 90, 260, 224
— R A 2 1 15, 659, 776
TS 2 1 105, 920, 000
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